TFERH Y

(L2549 5]

=

SM7E 48278 (BER) (

JREl O A
I35

)

&5

ﬂ n AOKE/
(F2)2 AB ﬂ KeRIN NEws 4
5003 #1125 £+ =] 4
@3 = M Sos
e [ 16145 ] [N © < = ) a
EZgn 73" 3]0y OF O] O | ©7  e=
kg (7232 1 ARex | B | | B | Az | 2
B ik JF S TN ISl Wl IS el NNl ISl B i
“EH S 3| D w5 |- BT A ﬂ#’ﬁ L
e =37 Wiz 8758 9 el 4,{ :ks A 71 BB 21 B E] w1
S 7(_5 > $-:F‘< # o} C8 7 T 50 54_6_’”7 48 7 51}:]“3’7
3 SR L S Alsg | 4| i [0 & | n—0s
VR -l s = 0| 7> 7 | 250k a3 5 | 222 b | sopse
—a| Eh | E— al k| ZBRR | B & | 2 & | 2BR &
B B\ 7-] |\ ms s s e il Sl
1R — 83. 79. 81 2.33 84.07 82. 22 81. 41 86.46 |4y Hitni
25w 5\]);%?5 % .00 | 7166 [ 6370 | 0a.05 [ 6601 80:96 86,83 [ilifis:
: sl B s ] 82 : 82.22 | 81.41 86.46 |5 IHIfhi
B4 0|74 AR e
! B LIRS SRor SRin s Rmon D awni
A2 1T , B | 780 | 845 ik in
! A K | W5 (400) | 7 (400) [ V¥ £ B
€ | 52D 1|5 "398 T 30 | 38 SR B A 50
([,_Zﬁ:jﬁﬁ *#H%kF~6. 28| 222 | £ 1@ | @6OQ | ©©®1 | DO® Fﬁ%(ﬁ% 55 G [00:10
SR &) BuP- Tk ! [ @13 13608 1200 | @2 | 3 21 %79 | 38a o
= ) 3 ) SK SETE R | 5T e RETERY o | SE =
00 A X xA SUE B T 65 |95 50T | yathn
i i 171773 |16@|41© 2 T3 !
gg%@%@gé ®61 1477 |©15| 229 2%)@ %@% (12%? T2
s 23 464 |Mm6H | 21% [TRES
e~ 323|973 |251(298(218 |50 823 &
/“\ 4—@%@ giwl‘!‘.—:‘}’i E—:‘M%f‘fﬂ_ =05 ML IR ) HA IR 4 I IR ML 32 ®©§4D' o
Y My | W | WIS | BIERE | B | WMESh | Eont |[HED)
x WIwi| 665|227 326
2 Q201D S 882 1655|580 |338 585|265 [ax
S b
A IR R e e
s %:I'j % E g % @ ﬁﬁ CEX AN o> [ wear [ wees [ Zse> [ mea SQQEQ 9135@5@ Fgﬁ%i
F1\a - 0800 T B850 12080 1CNa 078D 080
79175178(80|78|77/84| 5 71‘5\7‘%1%] 3242260 1010 f21301005 0055 | 0029 ?83‘%%@%
: 5 28 2143 2
LTI B3 | 588 | 588 | 5ids | 3583 | 85 | 884 | 1B gy
4|54 @| @ 4|3 EO® | (0% | 255 | dhn | tun | 10a | 350 | S8 fs-ip%%
18191855311 COH[CEE O aE [@ BE [@ A7 @8 | D S EFEFEFJJZ’?
B S sl 2lslie @ % (% [ 101z [ 0008 00212 [ 0010016 G012 T 0Ten Puis
i /G 00310 | 0000 | 00311 | 00810 | 00 614 (B30
43121136/36/41|2851 6] © 1T R | 0028 | 0015 | 0047 | 0067 | 00516 S0 | T0al BLy
T ToT T o 1ot N LG | 0osa | 00745 | 0083 | 40303 | 10% AREEY N T
olololslil1]2 e @ —C % 4375 4?675 3455 3475 3607534 01%;%28 73273313 &liﬂu
S @ S %% 5 88F7 [ 5 45TRrF? [ o 1mEr? | 6 mge2 | 645TBE2 | /5 S0 [kire
1101010(0| 1|2 |mr B Cé15.1 [ O143 [ Ol4as [ Ol4 7Y B2 SEiL lkfi¥m
112lo0l2/217|3lse @ %Z [1.11.0 [ 1.10.6 | L1L.1 [ 1 555 ?ég'g T e
BB ®Zﬁ’q %) i%j 17 44:06%'5 7 44:(20'5 4 34]5?.5 8 3%5010 3893 | 3508 | hagd [HAffn
o L . ?i * = 17H EF‘?E :FIQE ':'2185 ”‘7\%’)\6
@) ® 5 ®%§ QU T |3, [@28 [Gia8 | OX3 ~[@3 | @4 | ras R A
jal i X . X . 14.7 15.5 14. BIE LD
TR | @vsO | @vsO | @vs® Faik
R - - - Ak - .
migg g_g :_(1) 8_8 6128 | 6278 | 54108 = | 6468 | 7238 | ezug | WA
223 60 | 120 | ove | 5O | 774 | wiix | 500 T
R —5 44% BR _\% 1.9% 5 EBE%‘BH ( 38) WwH B 7003.8F B6KE 11.4%5 ( 22 ) o[58 75380
T DBEEN01L. 9% 5 I\WWie—8 BERBSE (4 ) 460PHE PR=MmEI2. 5%@% E}é = ;%’g?gég ?Jlgj\\%%%%g
ﬁ—?—}%—ﬁﬁéﬁlmfﬁ %/ZME?@ 1715 )IEER ( 38) =@ 15 13704.7 % BEEE 12545 ROSLT A4rZTH
£ Tﬁﬂ? =012.248 SHEARR TLRBE (5 ) 180FUM S T—58812. 68 ( 21 ) %?E;(E%;}]ﬂs. SJEP;EE@?) g?g
Fit »_?_Aﬁu. 15%;» %ﬂu% 12. 8% EES% mEAH ( 585 ) 89004, 1M I\ER—8011.8%8 KM#wE ( 38) & 2
s (1%8) 12318 B8 S HWLEBEA EHEA 1780208 BR =012.448% & 1048 UJ&?% (D j%g 2278
~ 4.5% BHEALT 12.218% EABAR N SIS 3 % y
BOBXfiis Sar 1 e THaHE DTS ( 5 O 1o BB b o8 EaBh ( 3 ) 1Ll
ELAS D F = B 12. 018 78K A J_EFRFEH 10300
WHHEAD 4.18F /%E %Sﬂll- 81hg (2% ) REEL BB & 170/3.27 % @E5HR010.01%58 ( 2% ) I o)
T EE £ 11.8kE FR B fEEsSN (5 ) 3008 =) 9. 61/32% %H—E}% é{ﬁgﬁﬁ) gﬁlﬁg ;ﬁlﬁg
BRI 4.18? ﬁmﬁﬁm 12. 044 % fﬁﬂﬂﬂﬂ?\(mﬂ B¥x> (6 ) 3704 8% APEAFRI2 1E BPEL (3 IURTTIVN
%400;*; 1%\) 12.3%5 #1)|[%% BEHA T B 6660EN" EEHENIL T % IEY ggaé ?U“ls%ﬁjf ?28
@Eﬁ‘}%iéﬁlg i %Kﬁ&jﬁ 11.71 %A JHE R %?E]:EB (6 ) 1370/4.7 #% Z*DERIN01L. 6% 5 I\SBLR ( 3 ) SBHIE— 440
RA08 )R 11.7%8 ( 250 ) HEBsZ RUBRES 190Z0 ( 1% ) 12.235 WDIBS =EBT 5 IH 630

U EEAH2E - SIMR LA MawSE AR S Mt

-
-



